
 

Number Nest Weekly Challenge 
 

Warm up 

1. What is 22447 grams in kg to the nearest tens? 22447g = 22.447kg = 20kg 

to the nearest tens  

2. What is 900 seconds in hours? 0.25 hours or  hours 14
3. What is 12 kilometres in miles?  or 7.5 miles 128 × 5 =  152
4. What is 1500 cm2 in m2? 0.15m2 

Activity 

1. Clair sells on average 8 eclairs per hour in boxes of two, each box costs 
£3.50. How much does Clair earn in 5 days? 

8 eclairs per hour = 4 boxes per hour 

4 x 24 x 5 = 480 boxes sold over 5 days 

480 x 3.50 = £1680 

 

2. Fill in the missing space using  so calculations go from largest to ×, ÷, +, −
the smallest: 

  5        6 > 4       12 > 9        3 

 

9  3 also works ÷
3. Five identical rectangles fit together as shown. What, in cm², is the total area 

which they cover? 

 

1. length + width = 15cm 
2. 2 length = 3 width, length =  width 32

 

So 1.  width = 15, width = 6 cm 52
The area of the total shape is 15 x (6x3)  = 270 
cm2 

 



 

4. In a sequence of positive integers, every term after the first two terms is the 
sum of the two previous terms in the sequence. If the fifth term is 2004, 
what is the maximum possible value of the first term? 

 

a) 399  b) 400 c) 633  d) 999 e) 1001 

If we consider the first two terms as a and b, then the sequence is as 
follows: 

a, b, a+b, a+2b, 2a+3b, … 

So 2a + 3b = 2004 

Since we know that a and b are both positive integers and we want to 
find the maximum possible value of a, we can use trial and error 
starting with the smallest possible integer as b: 

Consider b = 1: 

2a + 3 = 2004 so 2a = 2001, a = 1000.5 

However a has to be an integer so this doesn’t work 

Consider b = 2: 

2a + 6 = 2004 so 2a = 1998, a = 999 

Puzzle  

In this addition, each letter represents a different digit. 

If S is 3, what is O x Y? 

The thousands column: M must be 2 as there’s a carry from the 
hundreds column 

The hundreds column: A = 9 and U = 0 as there’s a carry from the tenth 
column 

The units column: O + Y can be either 3 or 13, however it must be 13 as  

U = 0, M = 2 and S = 3  

The 3rd column: S + N + 1 must be 12 so N must be 8. 

Looking at all the possible sums to make 13, O and Y can’t be 9 & 4 or 8 
& 5 because A = 9 and N = 8 

So O and Y must be 6 and 7 (in either order) so O x Y = 42 

 


